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B.Com. (AP) DEGREE EXAMINATION, NOVEMBER 2021 

First Semester 

Commerce (Apprenticeship Embedded) 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2021 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by double account system? 

 Cμmøh £vÄ •øÓ GßÓõÀ GßÚ? 

2. Define – Ledger. 

 ÷£÷μk Áøμ¯Ö. 

3. What is rectification of errors in accounting? 

 PnUQ¯¼À EÒÍ ¤øÇPøÍ \› ö\´Áx GßÓõÀ GßÚ? 

4. What is hank reconciliation? 

 Á[Q \©μ\® GßÓõÀ GßÚ? 

5. Why depreciation is required? 

 ÷u´©õÚ® Hß ÷uøÁ¨£kQÓx? 

6. Define Amortization. 

 £n©v¨¦ }UP® Áøμ¯Ö. 
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7. What is balance sheet? 

 C¸¨¦{ø» GßÓõÀ GßÚ? 

8. Define “Non-trading Concerns”. 

 ‘‘ÁºzuP® AÀ»õu {ÖÁÚ®’’ Gß£øu Áøμ¯Ö. 

9. Write notes on “Due date”. 

 ‘‘{¾øÁ ÷uv’’ £ØÔ¯ SÔ¨¦ GÊuÄ®. 

10. Define account current. 

 PnUS |h¨ø£ Áøμ¯Ö. 

 Part B (5 × 5 = 25) 

Answer all questions. 

11. (a) Prepare general journal entries for the following 
transactions of a business called Sundaram pic 
solutions in 2016 : 

  Aug.  1 : Sundaram, the owner, invested  
Rs. 57,500 cash and Rs. 32,500 of 
photography equipment in the 
business. 

   04 :  Paid Rs. 3,000 cash for an insurance 
policy covering the next 24 months. 

   07 : Services are performed and clients are 
billed for Rs. 10,000. 

   13 : Purchased office supplies for Rs. 1,400. 
Cash paid Rs. 400 and remaining 
outstanding. 

   20 :  Received Rs. 2,000 cash in photography 
fees earned previously. 
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   24 :  The client immediately pays Rs. 15,000 
for services to be performed at a later 
date. 

   29 :  The business acquires photography 
equipment. The purchase price is  
Rs. 1,00,000, pays Rs. 25,000 cash and 
signs a note for the balance. 

   2016CÀ _¢uμ® pic ö\õ¾åßì GÚ¨£k® 
ÁoPzvß ¤ßÁ¸® £›ÁºzuøÚPÐUS ö£õx 
SÔ¨÷£k £vÄPøÍ u¯õ›UPÄ®. 

   BPìm 1:   E›ø©¯õÍº _¢uμ® ¹. 57,500 
öμõUP® ©ØÖ® ¹. 32,500 ¦øP¨£h 
E£Pμn[PÒ öPõsk ÁoPzvÀ 
•u½k ö\´uõº. 

   BPìm 4:  Akzu 24 ©õu[PÐUPõÚ J¸ 
Põ¨¥mk   
£õ¼]US ¹. 3,000 £n® 
ö\¾zu¨£mhx. 

   BPìm 7:  ÷\øÁPÒ ö\´¯¨£mhÚ ©ØÖ® 
ÁõiUøP¯õÍºPÐUS ¹. 10,000 
Pmhn® ÂvUP¨£mhx. 

   BPìm13:  Áõ[Q¯ A¾Á»P ö£õ¸mPÒ ¹. 
1,400. öμõUP©õP ¹. 400 
ö\¾zu¨£mhx ©ØÖ® «u•ÒÍx 
{¾øÁ. 

   BPìm 20:  ö£Ó¨£mhx ¹. 2,000 öμõUP®, 
Cx •ß¦ \®£õvzu ¦øP¨£hU 
Pmhn®. 

   BPìm24:  ÁõiUøP¯õÍº EhÚi¯õP ¤ØPõ»zvÀ 
ö\´¯¨£k® ÷\øÁPÐUS ö\¾zv¯x  
¹. 15,000.  

   BPìm 29:  ÁoP® ¦øP¨£hU P¸Âø¯ 
ö£ÖQÓx. öPõÒ•uÀ Âø» ¹. 
1,00,000, ¹. 25,000 öμõUP® 
ö\¾zv¯x ©ØÖ® «vUS SÔ¨¤À 
øPö¯õ¨£ªmhx.   

Or 
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 (b) Prepare a Trial Balance with the following 
information : 

Sr. No. Name of  
Account  

Balance 
(Rs.) 

Sr. No. Name of 
Account 

Balance
(Rs.) 

(i) Capital 2,00,000 (ii) Stock 70,000

(iii) Cash 1,80,000 (iv) Debtors 3,00,000

(v) Creditors 1,00,000 (vi) Bank loan 1,50,000

(vii) Sales 3,00,000 (viii) Purchases 2,00,000

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x J¸ C¸¨¦ ÷\õuøÚ 
£mi¯À u¯õº ö\´¯Ä®:  

Á.Gs PnUQß ö£¯º C¸¨¦ 
¹. 

Á.Gs PnUQß 
ö£¯º 

C¸¨¦ 
¹. 

(i) ‰»uÚ® 2,00,000 (ii) \μUS 70,000

(iii) £n® 1,80,000 (iv) PhÚõÎPÒ 3,00,000

(v) Phß 
öPõkzuÁºPÒ 

1,00,000 (vi) Á[Q Phß 1,50,000

(vii) ÂØ£øÚ 3,00,000 (viii) öPõÒ•uÀ 2,00,000

12. (a) Rectify the following Errors : 

  (i) Rs. 5,000 Paid for furniture purchased has 
been debited to purchases account. 

  (ii) Wages paid Rs. 7,000 for installation of new 
machinery were recorded in the wages 
account. 

  (iii) Goods sold to Hari Rs. 10,000 not recorded. 

  (iv) Rs. 2,500 received from Sonu has been 
credited to Sonu A/c. 

  (v) Rent paid Rs. 1,000 wrongly debited to 
Landlord Account. 

  (vi) Credit Purchases from Raman Rs. 15,000 were 
wrongly recorded in the sales book. 

  (vii) Credit sales of Geeta Rs. 8,800 were wrongly 
recorded in the sales book. 
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   ¤ßÁ¸® ¤øÇPøÍ \› ö\´¯Ä® : 

  (i) ¹. 5,000US uÍ£õh[PÒ öPõÒ•uÀ ö\´x 
£n® ö\¾zu¨£mhx, öPõÒ•uÀ PnUQÀ 
£ØÖ øÁUP¨£mkÒÍx.  

  (ii) ¦v¯ C¯¢vμ[PøÍ {ÖÁ Fv¯® ¹. 7,000 
Fv¯ PnUQÀ £vÄ ö\´¯¨£mhx. 

  (iii) í›US ÂØÓ ö£õ¸mPÒ ¹. 10,000 £vÄ 
ö\´¯¨£hÂÀø». 

  (iv) ÷©õÝÂ¼¸¢x ö£Ó¨£mh ¹. 2,500 ÷\õÝ A/c 
US ÁμÄ øÁUP¨mkÒÍx. 

  (v) ¹. 1,000 ÁõhøP ö\¾zu¨£mhx {» 
E›ø©¯õÍº PnUQÀ uÁÓõP £ØÖ 
øÁUP¨£mkÒÍx. 

   (vi) μõ©Ûhª¸¢x Phß öPõÒ•uÀ ¹. 15,000 
ÂØ£øÚ ¦zuPzvÀ uÁÓõP £vÄ 
ö\´¯¨£mhx. 

   (vii) RuõÄUS ö\´u Phß ÂØ£øÚ ¹. 8,800 ¹. 
8,000 GÚ £vÄ ö\´¯¨£mhx. 

Or 

 (b) Explain the methods of preparing bank 
reconciliation statements.  

   Á[Q \©μ\ AÔUøPPøÍ u¯õ›US® •øÓPøÍ 
ÂÍUSP. 

13. (a) A machine purchased on 1st July 1983 at a cost of 
Rs. 14,000 and Rs. 1,000 was spent on its 
installation. The depreciation is written off at 10% 
on the original cost every year. The books are closed 
on 31st December each year. The machine was sold 
for Rs. 9,500 on 31st March 1986. Show the 
machinery account for all the year. 
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   1983 áüø» 1 B® ÷uv J¸ C¯¢vμ® ¹. 14,000US 
öPõÒ•uÀ ö\´¯¨£mhx ©ØÖ® Auß {ÖÁ¾US  
¹. 1,000 ö\»Âh¨£mhx.   JÆöÁõ¸ Bsk® 
A\À ö\»ÂÀ 10% ÷u´©õÚ® GÊu¨£kQÓx. 
JÆöÁõ¸ Bsk® i\®£º 31 AßÖ ¦zuP[PÒ 
•iUP¨£k®. 1986 ©õºa 31, AßÖ C¯¢vμ® ¹. 
9,500US ÂØ£øÚ ö\´¯¨£mhx. C¯¢vμU PnUøP 
AøÚzx BskUS® Põmk. 

Or 

 (b) Explain the sinking fund method of depreciation 
and its pros and cons. 

   ÷u´©õÚzvß ‰ÌS® {v •øÓ ©ØÖ® Auß 
|ßø© wø©PøÍ ÂÍUSP. 

14.  (a) Prepare a Trading Account for the year ended  
31st December, 1998, from the following information: 

 Dr. 
Rs. 

Cr. 
Rs. 

Opening stock 30,000

Purchases 3,10,000

Purchase Returns 8,000

Sales 4,50,000

Sales Returns 6,000

   Closing Stock was valued at Rs. 40,000. 
   ¤ßÁ¸® uPÁÀPÎÀ C¸¢x, i\®£º 31, 1998 

•iÁøh¢u BsiØPõÚ Â¯õ£õμ PnUøPz 
u¯õ›UPÄ®. 

 £ØÖ ¹. ÁμÄ ¹.

Bμ®£ C¸¨¦ 30,000
öPõÒ•uÀ 3,10,000
öPõÒ•uÀ v¸¨£® 8,000
ÂØ£øÚ 4,50,000
ÂØ£øÚ v¸¨£® 6,000

   CÖva \μUQß ©v¨¦ ¹. 40,000. 

Or 
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 (b)  Explain the purpose of preparation of financial 
statements. 

   {v{ø» AÔUøPPÒ u¯õ›¨£uß ÷|õUPzøu 
ÂÍUPÄ®. 

15.  (a) Find out the average due date of the following bills 
accepted by a trader who wishes to settle them with 
one single payment. 

Date of Bill Amount of Bill Due date

01.04.90 800 06.06.90

30.04.90 1000 03.08.90

03.06.90 400 06.07.90

15.06.90 600 18.09.90

   J÷μ uÁøn°À ö\¾zu Â¸®¦® J¸ ÁºzuPPμõÀ 
HØÖU öPõÒÍ¨£mh ¤ßÁ¸® ¤ÀPÎß \μõ\› 
{¾øÁz ÷uvø¯U PshÔ¯Ä®. 

¤À ÷uv ¤À öuõøP {¾øÁ ÷uv

01.04.90 800 06.06.90 

30.04.90 1000 03.08.90 

03.06.90 400 06.07.90 

15.06.90 600 18.09.90 

Or 

 (b)  What is an account current? What are its practical 
uses? 

   PnUS |h¨¦ GßÓõÀ GßÚ? Auß |øh•øÓ 
£¯ßPÒ GßÚ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16.  Journalize the following transactions : 

2016 
April 

Particulars Rs. 

1 Arul commenced business with 21,000

2 Bought goods for cash 9,200

4 Sold goods to Kannan on credit 5,600

5 Purchase goods from Mani 3,300

9 Received cash from Kannan 3,600

11 Paid Mani on account 2,100

16 Sold goods to Manohar 3,500

21 Cash sales 7,500

26 Paid Mani 1,200

29 Received cash from Manohar 3,500

30 Paid rent 450

30 Paid salaries to office staff 700

 ¤ßÁ¸® £›ÁºzuøÚPÐUPõÚ SÔ¨÷£mk £vÄPøÍ 
uμÄ®: 

2016 
H¨μÀ 

ÂÁμ[PÒ ¹. 

1 A¸Ò ÁoPzøuz öuõh[Q¯x 21,000

2 ö£õ¸mPÒ öμõUPzxUS öPõÒ•uÀ 9,200

4 PhÝUS PsnÝUS ö£õ¸mPÒ ÂØP¨£mhx 5,600

5 ©o°h® C¸¢x ö£õ¸mPøÍ öPõÒ•uÀ ö\´ux 3,300

9 PsnÛh® C¸¢x öμõUP® ö£ØÓx 3,600
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11 ©o, PnUQÀ £n® ö\¾zv¯x 2,100

16 ©÷ÚõP¸US ö£õ¸mPÒ ÂØ£øÚ ö\´¯¨£mhx 3,500

21 öμõUP ÂØ£øÚ 7,500

26 ©o ö\¾zv¯ öμõUP® 1,200

29 ©÷ÚõPº Chª¸¢x ö£ØÓ öμõUP® 3,500

30 ÁõhøP ö\¾zu¨£mhx 450

30 A¾Á»P FÈ¯ºPÐUS \®£Í® ÁÇ[P¨£mhx 700

17.  On 31st December 1994, the bank column of the cash book 
of Samatha showed a credit balance of Rs. 47,240. On 
examination of the cash book and a bank statement for 
the period, you find that: 

 Cheque received and recorded in the cash book not sent 
to the bank for collection Rs. 4,960. 

 (a)  A cheque of Rs. 1,400 paid into bank in Nov. 1994 
had been debited by the bank by error in Dec. 1994. 

 (b)  Cheques issued amounting to Rs. 70.080 in  
Dec. 1994 had been entered in the cash book as  
Rs. 69,000. These cheques were not presented at the 
bank for payment until January 1995. 

 (c)  Interest of Rs. 3,520 charges by the bank was not 
recorded in the cash book. 

 (d)  Payment side of the cash book had been undercast 
by Rs. 400. 

 (e)  Rs. 17,960 was entered in the cash book as paid into 
the bank on 31st Dec. 1994 but credited by the bank 
until the following day. 

 (f)  Payment received from a customer direct by the 
bank Rs. 10,920 but no entry was made in the  
cash book. 

   You are required to prepare bank reconciliation 
statement as on 31st Dec. 1994 after making 
necessary corrections in the cash book. 
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 i\®£º 31, 1994 AßÖ, \©uõÂß £n¨ ¦zuPzvß Á[Q 
£zv ¹. 47,420 ÁμÄ öuõøP Põs¤UQÓx. £n¨ ¦zuP® 
©ØÖ® Põ»zvØPõÚ Á[Q AÔUøPø¯ £›÷\õvUS® 
÷£õx, }[PÒ CøuU Psk¤iUQÕºPÒ. 

 ö£Ó¨£mh ©ØÖ® öμõUP¨ ¦zuPzvÀ £vÄ ö\´¯¨£mh 
Põ÷\õø» Á[QUS £n©õÚ ©õØÓ AÝ¨£ÂÀø» ¹. 
4,960. 

 (A) |Á®£º 1994 CÀ Á[Q°À ö\¾zu¨£mh Põ÷\õø»  
¹. 1,400 i\®£º 1994 CÀ Á[Q¯õÀ ¤øÇ¯õP £ØÔ 
øÁUP¨£mhx. 

 (B) i\®£º 1994 CÀ ÁÇ[P¨£mh Põ÷\õø»PÒ ¹. 
70,080 öμõUP¨ ¦zuPzvÀ ¹. 69,000 EÒÎh£mhx. 
C¢u Põ÷\õø»PÒ áÚÁ› 1995 Áøμ £n©õUP 
Á[Q°À ÁÇ[P¨£hÂÀø». 

 (C) Á[Q Âvzu Ámi ¹. 3,520 £n¨ ¦zuPzvÀ £vÄ 
ö\´¯¨£hÂÀø». 

 (D) öμõUP¨ ¦zuPzvß £n® ö\¾zx® £UP® ¹. 400 
SøÓ©v¨¦ ö\´¯¨£mkÒÍx. 

 (E) ¹. 31 i\®£º 1994 AßÖ Á[Q°À ö\¾zu¨£mh  
¹. 17,960 öμõUP¨ ¦zuPzvÀ EÒÎh¨£mhx, 
BÚõÀ ©Ö|õÒ Á[Q°À ÁμÄ øÁUP¨£mhx. 

 (F) ÁõiUøP¯õÍ›hª¸¢x ÷|μi¯õP Á[Q ö£ØÓ £n® 
¹. 10,920 BÚõÀ £n¨ ¦zuPzvÀ G¢u £vÄ® 
ö\´¯¨£hÂÀø». 

  £n¨ ¦zuPzvÀ ÷uøÁ¯õÚ v¸zu[PøÍ ö\´u 
¤ß, 31 i\®£º 1994&À }[PÒ Á[Q \›Pmk® 
£mi¯ø» u¯õ›UP ÷Ásk®. 

18.  On 1st July 2008 a company purchased a machine for  

Rs. 3,90,000 and spent Rs. 10,000 on its installation. It 

decided to provide depreciation 15% per annum, using 

written down value method. On 30th November 2011 the 

machine was dismantled at a cost of Rs. 5,000 and then 

sold for Rs. 1,00,000.  
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 On 1st December 2011 the company acquired and put into 

operation a new machine at a total cost of Rs. 7,60,000. 

Depreciation was provided on the new machine on the 

same basis as had been used in the case of the earlier 

machine. The company closes its books of account every 

year on 31st March. 

 Prepare Machinery Account and Depreciation Account for 

four accounting years ended 31st March 2012. 

áüø» 1, 2018 AßÖ, J¸ {ÖÁÚ® Kº C¯¢vμzøu  
¹. 3,90,000US Áõ[Q¯x ©ØÖ® Auß {ÖÁ¾US ¹. 
10,000 ö\»ÁÈzux. SøÓ¢x ö\À ©v¨¦ •øÓø¯¨ 
£¯ß£kzv, BskUS 15% ÷u´©õÚzøu ÁÇ[P •iÄ 

ö\´ux. |Á®£º 30, 2011 AßÖ ¹. 5,000 ö\»ÂÀ 
C¯¢vμ® APØÓ¨£mk, ¤ßÚº ¹. 1,00,000US 
ÂØP¨£mhx. 

i\®£º 1, 2011 AßÖ {ÖÁÚ® ö©õzu©õP ¹. 7,60,000 

©v¨¤À J¸ ¦v¯ C¯¢vμzøu øP¯P¨£kzv 
ö\¯À£õmkUS öPõsk Á¢ux. •¢øu¯ C¯¢vμzvØS 
£¯ß£kzu¨£k® A÷u Ai¨£øh°À ¦v¯ 
C¯¢vμzvØS® ÷u´©õÚ® ÁÇ[P¨£mhx. {ÖÁÚ® 

JÆöÁõ¸ Bsk® ©õºa 31 AßÖ uÚx PnUS 
¦zuP[PøÍ •iUQÓx. 

31 ©õºa 2012 À •iÁøh²® |õßS PnUQk® BsiØS 
C¯¢vμ[PÒ PnUS ©ØÖ® ÷u´©õÚ PnUøP 

u¯õ›UPÄ®. 

19.  Distinguish between “Receipts and Payments Accounts” 
and “Income and Expenditure Accounts”. 

 ‘‘μ^xPÒ ©ØÖ® öPõk¨£ÚÄ PnUSPÒ’’ ©ØÖ® 
‘‘Á¸©õÚ® ©ØÖ® ö\»Ä PnUSPÒ’’ BQ¯ÁØÖUS 
Cøh÷¯ ÷ÁÖ£kzxP. 
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20.  Explain the different methods of computing interest in 
account current. 

PnUS |h¨¦ Ámiø¯ PnUQkÁuØPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÍUSP. 

 

 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2021 

First Semester 

Commerce (Apprenticeship Embedded) 

BUSINESS ORGANISATION AND MANAGEMENT 

(CBCS – 2021 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is commerce? 

 ÁºzuP® GßÓõÀ GßÚ? 

2. State the meaning of Limited Liability Partnership. 

 Áøμ¯ÖUP¨£mh ö£õÖ¨¦ TmkÓÂß ö£õ¸øÍU 
SÔ¨¤hÄ®. 

3. Who is Promoter? 

 ÷uõØÔÂ¨£õÍº Gß£Áº ¯õº? 

4. Define Prospectus. 

 uPÁ»ÔUøP Áøμ¯Ö. 

5. What is Articles of Association? 

 \[P |øh•øÓ ÂvPÒ GßÓõÀ GßÚ? 

6. Define Management. 

 ÷©»õsø© Áøμ¯Ö. 

Sub. Code 
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7. Define “Organisation”. 

 ‘‘Aø©¨¦’’ C»UPn® TÖ. 

8. What is MBO? 

 SÔU÷PõÒ ÷©»õsø© GßÓõÀ GßÚ? 

9. What is decentralization? 

 £μÁ»õUP® GßÓõÀ GßÚ? 

10. Define Coordination. 

 J¸[Qøn¨ø£ Áøμ¯ÖUPÄ®. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the functions of Business? 

   ÁoPzvß ö\¯À£õkPÒ GßÚ? 

Or 

 (b) What are the advantages of Sole Proprietorship? 

   uÛ E›ø©¯õÍ›ß |ßø©PÒ GßÚ? 

12. (a) Distinguish between Memorandum and Articles of 
Association. 

   \[P Aø©¨¦ \õ\Ú® ©ØÖ® \[P |øh•øÓ ÂvPÒ 
Cøh÷¯ ÷ÁÖ£kzxP. 

Or 

 (b) Write a note on "Red herring Prospectus”.  

   ‘‘öμm öíº›[ uPÁ»ÔUøP’’ SÔ¨¦ GÊxP. 
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13. (a) What are the scope of management? 

   ÷©»õsø©°ß £μ¨ö£Àø» ¯õøÁ? 

Or 

 (b) Explain the various levels of management. 

   ÷©»õsø©°ß £À÷ÁÖ {ø»PøÍ ÂÍUSP. 

14. (a) State the advantages of Line Organization. 

   ÷|º÷Põmk Aø©¨¤ß |ßø©PøÍU SÔ¨¤hÄ®. 

Or 

 (b) What is the importance of planning? 

   vmhªku¼ß •UQ¯zxÁ® GßÚ? 

15. (a) What are the characteristics of authority? 

   AvPõμzvß £s¦PÒ GßÚ? 

Or 

 (b) What are the principles governing delegation? 

   £μÁ»õUPøÍ {ºÁQUS® öPõÒøPPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the functions of Co-operative Organisation. 

 TmkÓÄ Aø©¨¤ß ö\¯À£õkøÍ ÂÁ›UPÄ®. 

17. Explain the characteristics of a Company. 

 J¸ {Ö©zvß £s¦PøÍ ÂÍUSP. 

18. Discuss the Hendry Fayol’s principles of management. 

 öíßm› L£÷¯õ¼ß ÷©»õsø©U öPõÒøPPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 
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19. Explain the factors determining span of supervision. 

 ÷©Ø£õºøÁ°ß Põ» AÍøÁ {ºn°US® PõμoPøÍ 
ÂÍUSP. 

20. Explain the steps in controlling process.  

 Pmk¨£õmk ö\¯À•øÓ°ß £iPøÍ ÂÍUSP. 

 

 

 
———————— 
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NOVEMBER 2021 
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Commerce (Apprenticeship Embedded) 

BUSINESS STATISTICS 

(CBCS – 2021 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Median? 

 Cøh{ø» AÍÄ GßÓõÀ GßÚ? 

2. What do you mean by Range? 

 Ãa_ £ØÔ }Âº AÔÁx GßÚ? 

3. What is Correlation? 

 JmkÓÄ Gß£x GßÚ? 

4. What is meant by Regression? 

 öuõhº¦¨÷£õUS Gß£x GßÚ? 

5. Define “Time Series”. 

 “Põ»® \õº öuõhº Á›ø\” Áøμ¯Ö. 

6. What is Cyclical variations?  

 `ÇÀ ©õÖ£õkPÒ GßÓõÀ GßÚ? 

Sub. Code 
21BAP1C3 



F–6609 

  

  2

7. What is meant by Index Numbers? 

 SÔ±möhsPÒ Gß£x GßÚ? 

8. Write a note on “Splicing”. 

 “¤ÍÄ£kuÀ” SÔ¨¦ GÊxP. 

9. Define “Probability”. 

 “{PÌuPÄ” Áøμ¯Ö. 

10. What do you understand by Poisson distribution? 

 £õ´éõß £QºÄ £ØÔ }Âº ¦›¢x öPõshx GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, by choosing either (a) or (b). 

11. (a) The following is the age distribution of 100 persons 
in a street. Calculate the Arithmetic mean 

Age Group 0-10 10-20 20-30 30-40 40-50 50-60

No. of persons 5 10 25 30 20 10 

  RÌPõs£øÁ J¸ Ãv°À EÒÍ 100 |£ºPÎß Á¯x 
£QºÄ BS® Tmka \μõ\›ø¯U PnUQkP. 

Á¯x SÊ 0-10 10-20 20-30 30-40 40-50 50-60
|£ºPÎß GsoUøP 5 10 25 30 20 10 

Or 

 (b) What are the characteristics of a classification of 
data? 

  ¦ÒÎ ÂÁμ[PøÍ ÁøP¨£kzxu¼ß ]Ó¨¤¯À¦PÒ 
¯õøÁ? 

12. (a) Calculate the Rank correlation coefficient from the 
following : 
X 52 63 45 36 72 65 47 25

Y 62 53 51 25 79 43 60 33
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  RÌUPõs£ÁØÔ¼¸¢x Á›ø\ JmkÓÄU öPÊ 
PnUQkP. 

X 52 63 45 36 72 65 47 25

Y 62 53 51 25 79 43 60 33

Or 

 (b) Distinguish between Correlation and Regression. 
  ¦ÒÎ ÂÁμ[PøÍ ÁøP¨£kzxu¼ß ]Ó¨¤¯À¦PÒ 

¯õøÁ? 

13. (a) Fit a straight line trend for the following series. 
Estimate the value for 2012. 

Year : 2001 2002 2003 2004 2005 2006 2007

Production of steel 
(m. tonnes) 

60 72 75 65 80 85 95 

  RÌUPõs£ÁØÔ¼¸¢x Á›ø\ JmkÓÄU öPÊ 
PnUQkP  

Bsk: 2001 2002 2003 2004 2005 2006 2007
C¸®¦ EØ£zv 

(ö©m›U hßPÎÀ) 60 72 75 65 80 85 95 

Or 

 (b) What are the methods used for determining Trend? 
  ÷£õUøP {ºn¯® ö\´ÁuØPõP £¯ß£kzx® 

•øÓPÒ ¯õøÁ? 

14. (a) From the following data construct an index for 2018 
taking 2017 as base : 

Commodities Prices in 2017 Prices in 2018 

 (Rs.) (Rs.) 

A 100 140 

B 80 120 

C 160 180 

D 220 240 

E 40 40 
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  ¤ßÁ¸® uμÄPÎ¼¸¢x 2017 I Ai¨£øh¯õPU 
öPõsk 2018&UPõÚ SÔ±møh E¸ÁõUPÄ® 

ö£õ¸mPÒ 2017&À 
Âø»PÒ 

2018&À 
Âø»PÒ 

 (¹.) (¹.) 

A 100 140 

B 80 120 

C 160 180 

D 220 240 

E 40 40 

Or 

 (b) Calculate suitable index number for the following 
data 

Commodities A B C D E 

Base year price 32 41 53 64 17 

Base year quantity 07 05 06 03 08 

Current year price 43 57 63 82 19 

  RÌUPõq® uμÄPÐUS ö£õ¸zu©õÚ SÔ±mk 
GsønU PnUQkP 

ö£õ¸mPÒ A B C D E 
Ai¨£øh Bsk Âø» 32 41 53 64 17 
Ai¨£øh Bsk AÍÄ 07 05 06 03 08 
|h¨¦ Bsk Âø» 43 57 63 82 19 

15.  (a) Four cards are drawn without replacement. What is 
the probability that they are all aces? 

  |õßS ^mk AmøhPÒ ©õØÓ¨£hõ©À 
GkUP¨£kQßÓÚ. AøÁ AøÚzx® ace&BP 
C¸¨£uØPõÚ {PÌuPÄ GßÚ? 

Or 
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 (b) In a box there are 7 white and 5 black coins. Two 
coins are drawn from the box one after another 
without replacing. What is the probability of 
drawing two black coins? 

  J¸ ö£mi°À 7 öÁÒøÍ ©ØÖ® 5 P¸¨¦ 
|õn¯[PÒ EÒÍÚ. ö£mi°À C¸¢x Cμsk 
|õn¯[PÒ ©õØÓ¨£hõ©À JßÓß ¤ß JßÓõP 
GkUP¨£kQßÓÚ. Cμsk P¸¨¦ |õn¯[PøÍ 
ÁøμÁuØPõÚ {PÌuPÄ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Calculate  Bowley’s coefficient of skewness for the 
following distribution 

x 10-20 20-30 30-40 40-50 50-60 60-70 70-80

f 358 2417 976 129 62 18 10 

 ¤ßÁ¸® £QºÂ¼¸¢x ö£Í¼°ß ÷Põmh AÍøÁUPõÚ 
öPÊøÁU PõsP. 

x 10-20 20-30 30-40 40-50 50-60 60-70 70-80

f 358 2417 976 129 62 18 10 

17. Obtain the lines of regression from the following data : 

X 4 5 6 8 11 

Y 12 10 8 7 5 

 Verify that the coefficient of correlation is the geometric 
mean of the two regression coefficients. 

 RÌUPõq® uμÄPÎ¼¸¢x öuõhº¦÷£õUS ÷PõkPøÍ 
ö£ÖP. 

X 4 5 6 8 11 

Y 12 10 8 7 5 

 JmkÓÄ öPÊ Gß£x Cμsk öuõhº¦ ÷£õUSUöPÊÂß 
ö£¸UPÀ \μõ\› Gß£øu \›£õºUP. 
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18. Fit a straight line trend through the method of least 
squares for the following data 

Year  2013 2014 2015 2016 2017 2018 2019

Sales 110 115 130 140 145 160 165

 RÌUPõq® uμÄPÎ¼¸¢x SøÓ¢u ÁºUP •øÓ°À 
÷|º÷Põmk ÷£õUøP ö£õ¸zxP. 

Bsk  2013 2014 2015 2016 2017 2018 2019

ÂØ£øÚ 110 115 130 140 145 160 165

19. Calculate the Chain Base Index Numbers chained to 
2015 from the average price of following three 
commodities 

Commodities 2015 2016 2017 2018 2019

Wheat 4 6 8 10 12 

Rice 16 20 24 30 36 

Sugar 8 10 16 20 24 

 RÌUPõq® ‰ßÖ ö£õ¸mPÎß \μõ\› Âø»°¼¸¢x 
2015&¼¸¢x CønUP¨£mh öuõhº Ai¨£øh 
SÔ±möhsPøÍ PnUQkP. 

ö£õ¸ÒPÒ 2015 2016 2017 2018 2019

÷Põxø© 4 6 8 10 12 

A›] 16 20 24 30 36 

\ºUPøμ 8 10 16 20 24 

20. The following data show the number of seeds germinating 
out of 10 on damp filter for 80 set of seeds. Fit a binomial 
distribution to this data : 

X : 0 1 2 3 4 5 6 7 8 9 10 

Y : 6 20 28 12 8 6 0 0 0 0 0 
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 ¤ßÁ¸® uμÄ 80 ÷áõi ÂøuPøÍ Dμ©õÚ ÁiPmi°À 
ÁiPmk®÷£õx 10 ÂøuPÒ •øÍUS® GsoUøPø¯ 
PõmkQÓx. C|u uμøÁ £´Úõª¯À £QºÂÀ ö£õ¸zxP 

X : 0 1 2 3 4 5 6 7 8 9 10 

Y : 6 20 28 12 8 6 0 0 0 0 0 

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Business Economics. 

 ÁoP ö£õ¸Íõuõμzøu Áøμ¯ÖUPÄ®. 

2. What is Decision Making? 

 •iöÁkzuÀ GßÓõÀ GßÚ? 

3. Define Elasticity of Demand. 

 ÷uøÁ ö|QÌa]ø¯ Áøμ¯ÖUPÄ®. 

4. What do you mean by Cardinal Utility? 

 PõºiÚÀ ³mi¼mi GßÓõÀ GßÚ? 

5. What is meant by production function? 

 EØ£zv ö\¯À£õk GßÓõÀ GßÚ? 

6. What is explicit cost? 

 öÁÎ¨£øh¯õÚ ö\»Ä GßÓõÀ GßÚ? 

Sub. Code 
21BAPA1 
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7. What do you mean by Monopoly? 

 HP÷£õP® GßÓõÀ GßÚ? 

8. State the meaning of customary pricing. 

 ÁÇUP©õÚ Âø» {ºn¯zvß ö£õ¸øÍU SÔ¨¤hÄ®. 

9. Define the term Inflation. 

 £nÃUP® GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

10. What is per capita Income? 

 uÛ|£º Á¸©õÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the decision making process in business. 

  ÁoPzvÀ •iöÁkUS® ö\¯À•øÓø¯ ÂÍUSP. 

Or 

 (b) What are the objectives of a Business Firm? 

  J¸ ÁoP {ÖÁÚzvß ÷|õUP[PÒ GßÚ? 

12. (a) Explain the income and cross elasticity of demand. 

  Á¸©õÚ® ©ØÖ® ÷uøÁ°ß SÖUS ö|QÌa]z 
ußø©ø¯ ÂÍUSP. 

Or 

 (b) List out the importance of the law of Equi-marginal 
utility. 

  Equi-marginal utility \mhzvß •UQ¯zxÁzøu 
£mi¯¼kP. 
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13. (a) What are the factors hindering cost control in India? 

  C¢v¯õÂÀ ö\»ÄU Pmk¨£õmøhz ukUS® 
PõμoPÒ GßÚ? 

Or 

 (b) Write about the principles of Diminishing Marginal 
rate of Technical Substitution. 

  öuõÈÀ~m£ ©õØÕmiß ÂÎ®¦ ÂQuzøu 
SøÓUS® öPõÒøPPøÍ¨ £ØÔ GÊuÄ®.  

14. (a) What are the features of perfect competition? 

  \›¯õÚ ÷£õmi°ß A®\[PÒ GßÚ? 

Or 

 (b) Highlight the principle of price policy. 

  Âø»U öPõÒøP°ß öPõÒøPPøÍ •ßÛø»¨£kzuÄ®. 

15. (a) What are the causes of Business Cyde? 

  ÁoP _ÇØ]UPõÚ Põμn[PÒ GßÚ? 

Or 

 (b) What is the significance of national income data?  

   ÷u]¯ Á¸©õÚ uμÄPÎß •UQ¯zxÁ® GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the subject matter of Business Economics. 

 ÁoP¨ ö£õ¸Íõuõμzvß EmP¸zøu ÂÍUPÄ®. 

17. Bring out the various methods of measuring elasticity of 
demand. 

÷uøÁ°ß ö|QÌa]z ußø©ø¯ AÍÂkÁuØPõÚ 
£À÷ÁÖ •øÓPøÍU u¸P. 
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18. Explain about Short-run and Long-run Cost Curves. 

 SÖQ¯ Põ» ©ØÖ® }sh Põ» ö\»Ä ÁøÍÄPÒ £ØÔ 
ÂÍUPÄ®. 

19. Bring out the classifications of Market. 

 \¢øu°ß ÁøP¨£õkPøÍz u¸P. 

20. Highlight the methods in computation of National 
Income. 

÷u]  ̄Á¸©õÚzøu PnUQk® •øÓPøÍ •ßÛø»¨£kzuÄ®. 

____________ 


